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// =X At
#include <stdio.h>

int main(void
{

char codel = 'A
char code?2 = 65;

printf("codel=%c, codel=%d\n", codel,codel);
printf("code2=%c, code2=%d\n", code2,code?);
return O;

}

codel=A, codel=65
code2=A, code2=65
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// OtAZ| 2 E &H
#include <stdio.h>
int main(void)

{
unsigned char code;
for(code = 32; code < 128; code++)
{
printf("otA7| ZE %d2 %c® HCE\n", code, code);
}
return O;
}

OfAZ| ZE 322 YLICE
OfA7| [E 332 IYL|LCH

OlA7| IC 652 AQIL|CH
OlA7| A 662 BOIL|CH

OtAZ| ZE 972 a¥LCt.
OfAZ| ZE 982 b LICE.

OfA7| ZE 1262 ~YL|Ct
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— char str[6] = {'H', 'e", 'l', 'l

— char str[6] = "Hello";
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// HIE L 27|

— char str[] = "C Bible";
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— strcpy(str, "World");
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#include <stdio.h>

int main(void)

{
char str1[6] = "Seoul"
char str2[3]1={"i", 's' };
char str3[] = "the capital city of Korea."
printf("%s %s %s\n", strl, str2, str3);
}

Seoul is the capital city of Korea.
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#include <stdio.h>

int main(void)

{

char str[] = "komputer";
int i;

for(i=0;i<8;i++)

printf("%c ", str[il);

str[0] = 'c¢';
printf("\n");

for(i=0;i<8;i++)

printf("%c ", str[il);

return O

j‘q k o Nm
strjo] | st1] | stri2]

str[5]

str[6]

komputer
computer
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#include <stdio.h>
int main(void)
{
char src[] = "Seoul";
char dst[6]; - - - _ _
int i; S e No NuMNT) \(”‘
pr'in‘rf("% EH —E—IF%Z%S\YI",SPC),' ~ src[0] src[1] src[2] srs:[3] src[4] src[5]
T Y | ™
i=0; \Q/’/
while(src[i] = '\0") s f N
{ "//‘“\ . p
qs‘r[iJ:srcH-i]: ] u o 7/; S \O)"\
1++;
) ~_ | ostio] | dst[1] | ostf2] | dsti3] | dstf4] | dsts]
dst[i]= "\O’;
printf("S = 2XL=%s\n", dst);
return O;
}

Uz B RrYG=Seoul
QL& ERFY=|uoeS
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#include <stdio.h>

int main(void)

{

}

char str[30] = "C language is easy";
inti=0;

while(str[i] = 0)

i++;

printf(" S X L\"%s\"2| ZO|= %dLITEAR", str, i)

return O;

2X< "C language is easy"Q| Z0|= 18QIL|LC}.
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int getchar(void)
void putchar(int c)
int getch(void)
void putch(int c)
scanf("%c", &c)
printf("%c", c);
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&89
otLtel E2AE S Al BHEtStLE.
H clfl MEE 2 XNE &5 6t
ofLtel 2 XHE AN BtetstCHHIHE AIE oA £ 3).
Haclfl JEE 2NE SZ e (HIHE AFE06HA £ 3).
otLtel 22X E M H= cOl 4 & ST,
H clfl MEE 2 XNE &5 6t
I Bk Y AMELZI(N) Ot JH LS B &
b “E]E”OE 2+CF,
#include <stdia.h>
%uimgjn(ugjd)
char ah!
# gh:ggmo;
}...
ZZE0H

Konkuk UHErsity

14



T

T5

get

T

/"\
—-

// getchar()Q| AtE
#include <stdio.h>

int main(void)

{
int ch; /] B0 =2
while(1)
{
ch = getchar(): // ZXHE Y 2=t
if(ch=="q" ) break;
putchar(ch);
}
return O;
}
A
A
B
B
q
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getcny), putcni)
// getch()9] A&
#include <conio.h>
En’r main(void) HIHE AF o
int ch: /] A R e
while(1)
{
| ch = getch(); |
if(ch=="q" ) break;
putch(ch);
}
return O;
}
ABCDEFGH

Konkuk University
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getchar() <stdio.h>

<conio.h>

getche() <cohio.h>
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int scanf("%s", s)

int printf("%s", s)
char *gets(char *s)
int puts(const char *s)

=2 alole a| sk
89
EAE=S AHMN S AEHE s[]0 M &
BHE s[]0l MEEH A= =AE S = 6t
ot =2 2XE 2 HANHA A+ BHE s[]0l H & StCh
BHE s[]0l MEEH A= & =2 A4S = =25t
Hello Wor'ld| EE:’-E:I]I
—————— >
7
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scanf()Q| AlEH
— char str[10];
— scanf("%s", str);

scanf()= oF HH0| &7l O| &2 ZXIE L HOEY =+
— char s1[10];

— char s2[10];

— char s3[10];

— scanf("%s%s%s", s1,s2,s3);

C}

£Q

— // AFEXFIF one two three@} 20| @ E6HH s10{|= oneO|, s20]|

= twoZ}, s30|| = threeZt & =LY
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gets()
- BE Y02 ue AL} LES UK o B 2olg Y
- ZAIE0| EHrE EAH(Wn)= 2R X| 2l Ciio| X522 NULL
= AHWO)E —’F—7f°“:f
- o @2 A2 buffer?t 7i2|7|= 200 M= T
char *gets(char *buffer);

int puts(const char *str);

puts)
— strO| 7i2|7|= 2AIE = h.':*Of M 23O =4
— NULL 2XH(W0") = =HE 2AHWN) 2 HE

char *menu = "ZHUYTI: open, IATHTI: close";
puts("Dii Ol SHHE AEHOIAIR M),
puts(str);
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#include <stdio.h>

int main( void )

{
char buffer[21]; // 2071 29] &#¢} '\O' & A2 4= ),
printf("=AE & A H A 2. \n");
gets( buffer);
printf(" =€ &kl s 25U \n");
puts(buffer);

~ return O;

}

TRIYE QI BN L.,

Hello!

QEE 24Ql 2 T3 HE U T

Hello!

Konkuk University
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CH =2 XHRIDF2(A-Z)

X1k (a-z, A-Z, 0-9)

XHe1It2(0-9, A-F, a-f)

= === =0 === =

isalnum(c)

isxdigit(c)

isspace(c)

ispunct(c)

isprint(c)

iscntrl(c)

isascii(c)

At2 2L

=

=
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Toupper(c)

cE A=A2 "2 L

tolower(c)

toascii(c)
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#include <stdio.h>
#include <ctype.h>

int main( void )
{

int c;

while((c = getchar()) |= EOF)
{

if(lislower(c) )

¢ =|toupper(c)

~ZRIQLRI TAH

THERIE HH24

putchar(c);
}
return O;
}
abcdef
ABCDEF
~Z
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#include <stdio.h>
#include <conio.h>

#include <ctype.h>
int main( void )
{
int ¢;
while((c = getch()) I= 'z")
{
printf("-----------cceee - \n");
printf("isdigit(%c) = %d\n", c, isdigit(c)):
printf("isalpha(%c) = %d\n", c, isalpha(c));
printf("islower(%c) = %d\n", c, islower(c));
printf("ispunct(%c) = %d\n", c, ispunct(c));
printf("isxdigit(%c) = %d\n", c, isxdigit(c)):
printf("isprint(%c) = %d\n", c, isprint(c));
printf("-----------oceeee - \n\n");
}
return O;
}

isdigit() =0
isalpha() =0
islower(’) =0
ispunct(’) = 16
isxdigit() = 0
isprint(’) = 16

Konkuk University

24




0!

_JIK_

strlen(s)
strcpy(sl, s2)
strcat(sl, s2)
strcmp(sl, s2)
strncpy(sl, s2, n)
strncat(sl, s2, n)
strncmp(sl, s2, n)
strchr(s, ¢)
strstr(sl, s2)
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— strlen("Hello")= 5& Bzt

= AE AL
char dst[6];
char src[6] = "Hello";
strcpy(dst, src);

e [P N1 KT R0 NG mme‘x \mmm
J R I/I I

TP
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char dst[12] = "Hello";
char src[6] = "World";

strcat(dst, src);

- I
—
;;; w N o N r 1 NdH\O
Ll
HNe N1THMNTNoMNMwHNoNr
dst
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// strcpy®t strcat
#include <string.h>
#include <stdio.h>

int main( void )

{
char string[80];

strcpy( string, "Hello world from " );
strcat( string, "strcpy " );

strcat( string, "and " );

strcat( string, "strcat!" );

printf( "string = %s\n", string );
return O;

}

string = Hello world from strcpy and strcat!

Konkuk University
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int strcmp( const char *s1, const char *s2);

gt etgt sl s2° 2t
<0 s10| s2 2 Ct =L}
0 s10| s22t &2 C},
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// stremp() &
#include <string.h>
#include <stdio.h>

int main( void )

{
char s1[80]; /
char s2[80]; /
int result;

printf(" A A ol
scanf("%s", s1);
printf("FH A o
scanf("%s", s2);

result = strcmp(sl, s2);
if(result<0)
printf("%s7} %sE t} kel A5tk \n", s1, s2);
else if(result ==0)
printf("%s7} %s<t 25Ut \n", s1, s2);
else

printf("%s7} %sE ot Foll AF Tk \n", s1, s2);
return O;

}

HNEim CHO{E & 5tA|2:Hello
EHR CHO{E 2 238IA| 2:World
HelloZ7} World2Ct 20| S L|Ct.Konkuk University 30
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char s[] = "language"; /! EXtE
charc="'g"; // B} S 2L
char *p; // &Rt ZQIH
p = strchr(s, c): // strof M c& &Lt

=ALE0M EAE A Y

char s[]="A joy that's shared is a joy made double"; // 22 ZX}&
char sub[] = "joy"; // H2{1 ot ZAtE
char *p; /] 2XF A K| M ZQlH

p = strstr(s, sub); // sO|M subE &=L}

Konkuk University
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// strtok &2 AL-8-4
#include <string.h>
#include <stdio.h>

char s[] = "Man is immortal, because he has a soul";
char seps[] =" \t\n";
char *token;

int main( void )

{
// FAEE Ageta v EES AT
token = strtok( s, seps );
while( token = NULL )
{
/] EAE soll EF0] 9l Bt vEE S
printf( "E=: %s\n", token );
// TS EEZS A=t
token = strtok( NULL, seps ); //
}
}
EZ: Man
Edis

EZ: immortal
E 3 because
EZ: he

EZ2: has
EZa

E=: soul Konkuk University
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ME ot scanf)ELCt A 7|7} &Lt
stdlib.h0 & HO|- HtEA| =&t

v Moo
=2 o

Al
e

ool

int atoi( const char *str); str2 int&8 2 2 B &t 5HCt

long atoi( const char *str ); str= long8 22 HEtsHC
o

double atof( const char *str ); str2 double™
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// atoi() &<
#include <stdio.h>
#include <stdlib.h>

int main( void )
{
char s[30];
char t[]="36.5";
int i;
double v;

printf(" 4 TE g skA] ")
gets(s);
i = atoi(s);

printf(" ¢ = ¥ %

i
oL
o
N
o
~
3:

v = atof(t),
printf (" 5t

i

2l

return O;

-

ClE45IA| 2:89
1= 89

: 36.500000

o

Al
=

M oo ox
riot 1 >
rH1 T
>
1 1
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sscanf(s,...) SXZsZ2H XEE HAOZ =X

sprintf(s,..) H=2 = 4 NEX0 et NS SEHE 2 A HHE sOll M &S

int main( void )

{
char s1[] = "100";
char s2[]="12.93";
char buffer[100];
inti;
double d;
double result;
sscanf(sl, "%d", &i);
sscanf(s2, "%If", &d):
result =i +d;
sprintf(buffer, "%f", result);
printf ("It A= %bsY Ytk \n", buffer);
return O;
}

ol Ab ZTH= 112.930000 Q) L CF.

g
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- - | (@) =
SXtEo| EX H o Az E2 EXILO| DL Higo| HiY, =
2Kt =X Hf € 0| =L q
- /——\\ - -
B 1 i Nt 0
s/0]
char s[3][6] = { - siogfo] {sfojga | sfogrer | stogsy | stouay | sioggsy
"init",
"open", y 0 e X.n M\Q
] s
'close" stajfo] \sgeiay | sz | s |sppn | sy
)
c L1 o Ns Ne M\(Q
o sio) iy | sz | sz | s | seiss
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#include <stdio.h>

int main( void )
{
int i;
char menu[5][10] = {
"init",
“Open",

%
for(i=0;i<5; i++)

printf("%d | A ¥ %s \n", i, menu[i]):

return O;

-

M o= init

| O close

Awnpp—O
rErE rE e

N
® 0+: read
M 0| &: write

Konlul | Ini\/nrci‘r\j/
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#include <stdio.h>

int main( void )

{
int i;
char buffer[10];
char menu[5][10] = {
|||-m-.|_||,
||openu,
"close",
"r‘ead",
"write"
I
printf("Hl & o H kAl ")
scanf("%s", buffer);
for(i = 0;i<5; i++)
if( strcmp(buffer, menu[i]) == 0)
printf("%d A 575 <SR s ThAN", i)
return O;
}

Konkuk University
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waiting=0; // AEE Hilot= =

CHO| T+
L VY] | T
#include <stdio.h>
#include <ctype.h>
int count_word(const char *s);
int main( void )
printf("%d\n", count_word("the c book..."));
return O;
}
int count_word ( const char * s )
int i, we = 0, waiting = 1;
for(i=0; s[i]!= NULL; ++i) // s2 2t 2+ R AL
if(isalpha(s[i]) ) // s8 2SI &
{
if( waiting ) // REE
{
WC++,
}
}
else
waiting = 1; // HEE
return wc;

FIFELO[ OFLI e

Konkuk University
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#include <stdio.h>
#include <string.h>

int str_ncmp(const char *s1, const char *s2, int count);
int main( void )
printf("%d\n", str_ncmp("language C++", "language C", 5));

return O;

}

// returns <0 if s1< s2

// returns O if s1 ==3s2

// returns >0 if s1>s2

}n‘r str_ncmp ( const char * si, const char * s2, int count )

if (Icount)
return(0);

while (--count && *s1 && *sl == *s2)
{
sl++;

S2++;

}

return( *sl - *s2 );

Konkuk University
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#define ENTRIES 5

int main( void )

{

int i, index;
char dic[ENTRIES][2][30] ={
{"bOOk", Il;‘_(HII}I

{Ilboyll' ",/l\_.]fj"}l
{"computer", " H"},
{"lanuguage", "1 1"},
{"rain", "H]"},

JX

char word[30];

printf(" kol & ¢ 2 5hA] 2.;
scanf("%s", word)

index = O;
for(i = 0; i < ENTRIES; i++)
{
if( strcmp(dic[index][0], word) == 0)
{
printf("%s: %s\n", word, dic[index][1]);
return O;
}
index++;

}
printf("AF ol A WA H A e kFH TR AN");
Konkuk University
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#include <stdio.h>
#include <ctype.h>

int stoi( const char *s);

int main(void)

{
printf("%d\n", stoi("-123"));

}

int stoi( const char *s )

{
int c; // AA ] =3k
int total =0;  // @A<] A
int sign;
C = *s++;
sign = ¢; /= A
if (c == o || == '+')

c=*s++; [/ HSE A

while (isdigit(c)) {

total = 10 * total + (c - '0"), // A A 71t}
C = *s++; /B 2AE A=

}

if (sign =="-'
return -total;

else

return total;, // 283 &= =Y,
) Konkuk University
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